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130 (1) (a) width, 3m, 12

112

(b) length, width, 4cm, 6cm, 24
(c) length, length, 8m, 8m, 64

Workbook
(2) (a) S e This shape hos | 5 ) sides with equal length
\ We can find the perimeter of this shape by:
Perimeter=| 5 )x( 8 Jem
=| 40 Jem

This shape has | 8 | sides of equal length.
We can find the perimeter of this shape by:

Perimeter=| 8 )x|( 3 Jm

=( 24 )m

3) :
| This shape has 6 sides of
equal length.
- The length of each side
9 )em = Shem = 6

~ ' =9cm
perimeter = 54 cm |




115 |(3) (@) area=( 7 )x( 7 ) (b) area=( 5 )x( 7 )
=@cm' ’735 m?
(©) orea=(12)x( 8 )
=| 96 Jcm?
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© o« L]
118 | (6) (a) )
36+9=4 width=( 4 Jem
- -
(b)
33+3=11 length=_ 11 Jm
\ »,
(<) |
2400 = 100 = 24 width=| 24 |m




